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7"01
Intro

Today we will 7”va learn © 97 of 79t 7712 NN
Some of the topics we will learn about include.

The time-length of the various Empires that dominated
Eretz Yisroel.

The two ways to calculate dates:

1.

RN

fatah Ringhinia

The orin make their calculations from the year after the
7.

2.

RI90

I mobmn

The scribe’s date their documents from the beginning of
the Greek Empire.

The way to determine the years of 27 1270 from 1 mabn
and vice versa.

D2VR N TIW DOHR NVY

The world will stand for 6000 years.

DOYR W

N

The first 2000 years, were desolate, because there was no
Torah.

DPO9R W

N

The second 2000 years, was the era of the Torah,

WD M D99R 10

And the final 2000 years is the era of Moshiach’s coming.

The way to determine the years of mwin min from mabn
1 and vice versa.

T R VAW IV 119 VT RYT IRD ORI
The way to determine the year of the current seven-year
Shmittah cycle from the years of the j27n.

DafHachaim.org

Two wayy ty calealate the dutes
X990 R1nN

P Mo5PN  nNan PRMNn

The way to determine
the years of man )27n
fromm mabn and vice versa.

NIYW DYDHR NVW
%N NN

DYO9YX NV
NN

DYDOR NV
NWNH MN?

The way to determine
the years of mwnn mm
fromp madn and vice versa.

VT RDT RN RN
VI2W21 21w NND
MY XN
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So, let's review ...

The Gemara in the previous Daf mentioned

377 29730 DR I DIV IRD

ORIV’ HY YW Mo Tows

180 years before the 129 of the second Bais Hamikdash,
the evil Roman Empire began to dominate the Jews in
Eretz Yisroel.

The Gemara asks

R 1M DIDWI IRD

N0 WY INND

It was actually earlier, 206 years before the 1271, that the
Roman'’s began their rule, as the Braisa, which accounts
for the 420 years of the 3w 13, states:

37713192 079 MO

MW YR DWHV

The Persian empire ended 34 years after the second Bais
Hamikdash was built.

Then,

377192 1 mbn

W DIHW RN

The Greeks took over, and their rule lasted 180 years, and
ended in the 214th year of the second Bais Hamikdash.

DafHachaim.org

R4

D3N 2N DT M DN TN
bR by mpen nehn mews

180 years before thejan of the second Bais Hamikdash,
the evil Roman Empire began to dominate
the Jews in Eretz Yisroel.

Py

N5 1 Dopw NN
NN W) )NRD

It was actually earlier, 206 years before the)2m,
that the Roman’s began their rule,

A Braisa which WWA/%ﬂf the 420 yeary of the TV
Uafes:

N2 7192 OID MOYD
NIY YIIX) DPVWHY
Persia

34 years
| ]

1
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Then,

277 1191 RINWA MOH

wHwI RN

The Hashmonean’s took over, and their rule lasted 103
years, and ended in the 317th year of the second Bais
Hamikdash.

And then,

o172 M

WHWI IRD

o177 took over, and his rule also lasted 103 years, and
ended in the 420th year, the year of the j2m.

Now, since the Roman'’s seized their power from the
Greeks, their rule started after the 214th year of the second
Bais Hamikdash, which was 206 years before the 12?2

Dedicated By:
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N2 192 N MIHN
MY DXINWI RN

Persia Greece
34 years 180 years

TSI 991

Year Year
34 214

2N 7192 RINWN MOHN
WHW RN

Hashmonean
103 years

Persia Greece
34 years 180 years
I N

AUBh A el duiihd

Year Year Year
34 VAV 317

ODITNN N2 MOYD
WHY RN

Persia Greece Hashmonean Hordes
34 years 180 years 103 years 103 years
7 1 | |

AUBh A elauh duiihg

Year Year Year Year
34 214 317 420

206 Years

Now, since the Roman’s seized their power from the Greeks,
their rule started after the 214th year,
which was 206 years before the)j2mn?
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The Gemara explains, as was already mentioned in the
previous Daf,

P10 W) PIVY

ORIW? TN WP

2 1TIVNWR R

MO W RP RY I

HRIW? HY AYWIN MO TOWOW

The first 26 years of the Roman empire cannot be included
in the years of their dominion, because during those 26
years the Romans still maintained their alliance with the
Yidden, and therefore, it is only for 180 years that the
Roman’s dominated the Yidden.

The Braisa concludes

TR IR

P27 12790 IR DIW 702 WM R

As Rashi explains;

The o'non date all events and documents from the year
after the j2nm.

However, X199, the scribes, date their documents from the
6th year of j» ma5n, the Greek rule over the whole world,
which was 380 years before the j27n.

Dedicated By:
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v

2w W) PIVD
Sy TN MmN WP
112 ITAVDHYN R»
b 2wn Np RS 1N
58 by hywHin mobp nbwow)d

because during those 26 years
the Romants still maintained their alliance with the Yidden,

and therefore, it is only for 180 years
that the Roman’s dominated the Yidden.

797X ROD
120 127N IR DY IND VM RY

Ay Rashic explaing;
The ppon date all events and documents

%mm the year n%fer the SRIP.

However, pr00, the scribes, dite their documents
/rom the Gt year o% " e, who raled over the whole wort,
which was 380 yeary é.ﬂ%(w/ z‘/w/pm.
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Therefore, X095 17 says

M5 7079 YT RO RIN RV R

215 99 RIDOY WS

IV IOV 1HY 00N

NG H mowm

If a xin forgot his specific year from the 12, but he does
remember his century, he should ask the X750 for his
current year from j» ma5, and the Rin should add 20 years
to his own century.

For example, if the X190 was in the year 515, then the Xin is
in the year 135, because since the 1271 happened 380 years
after 1 Mo, the specific count of the j3n begins 20
years before the specific count of 17 mabn.

And similarly

R3OV VO R

20N I RINY PYWI

PIV PIVY 1IH IR

N 1 MW

If a X190 forgot his specific year from p mabn, but he does
remember the century, he should ask the xin for his
current year from the 129, and the X790 should subtract
20 years from his own century.

For example, if the X3n was in the year 135 then the X190 is
in the year 515, because since 1 M2 began 380 years
before the j2mn, the specific count of j» ma5n begins 20
years after the specific count of the j27m.

DafHachaim.org

W(%ﬁf&, £00 ) sayb
MN NN WID DT RS NI INN WD N
21ND NND NIODS Mmbnund
I PIWD MDY 1DPL)
MMMINb mb nowm

he should ask the 9D for his current year from p mabn,
and the nan should add 20 years to his own century.

For example,
Ifthe oD was in the year 515,
then the Nan is in the year 135,
because since the)ann happened 380 years after p mobn,
the specific count of the j23n begins 20 years before

NI9D WD N

YN NN NIND Mmdrw)

PIW PIWD 1IMID IN2D)
MIMIND b nowm

he should ask the nan for his current year from the)amm,
and the M9Dp should subtract 20 years from his own century.
For example,
Ifthe Ron was in the year 135
then the NoD is in the year 515,
because since» mabn began 380 years before the)jamn,
the specific count of » mabn begins 20 years
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. The Gemara proceeds with a Braisa
WPOR 727 RIN
o2 MY DOOHR VW gy
The world will stand for 6000 years.
DO5R MW e 23 &
i DN M0 MW D°DOR NVW
The first 2000 years, were desolate, because there was no The world will stand for 6000 years.
Torah.
DoHR T DOYR MW DDOYR MY DIDHR NV
ann

nMwnn mn? N 1n

And thefinal2000  The second 2000  The first 2000 years,
years is the era of years, was the were desolate, as

The second 2000 years, was the era of the Torah.
W T DO5R W
T IRW 7 0 IR 1270 I MNYI

Dedicated By:

And the final 2000 years is the era of Moshiach’s coming,
and unfortunately a portion of this era has already passed,
and Moshiach has not yet come.

As the Gemara explains 7m0 0’95 *1w, the year 2000 when
the era of 7n began, does not refer to 7N 17w, because
K119 RD

112 NIV 0T

RITT R ROOR IRIT 079 205K 7N

amn i was later, in the year 2448, which takes away from
the second 2000-year period.

Therefore, we must say that 770 0058 3w refers to o7aR
1ax who taught Torah to all the nations, as the Pasuk
states

1I02IWY JWR WO NN

And the o»n interprets

ROPIROITWT

And in the year 2000, 1728 D772R was 52 years old, because
he was born in the year 1948.

Rashi explains that this can be figured out by adding up
all the generations between wx7 07X and 128 DN as
enumerated in the Torah.

DafHachaim.org

Moshiach’s coming  era of the Torah.  there was no Torah.

127V 1M
D IRDW DN NN INY

Unfortunately a portion of this era has already passed,
and Moshiach has not yet come.

NN DDHR NNV

The year 2000 when the era of "n began,
does not refer to mn Jnn, because

IND 1510 NOD
12 DIOVD DT
ININT NN NODNR 'NNT D 195N NN

M0 np was later, in the year 2448,
which takes away from the second 2000-year period.

v

Therefore, we must say this refers to1»aN DR
who taught Torah to all the nations,

abs the Pasuk statey
s D SR Pt mN

NDMIND 120w T

And in the year 2000,1228 DN2R was 52 years old,
because he was born in the year1948.

Thiy can be W@/ outt éyx M//M?/ wp all the generationy
between //&/m Pt m&/ P PRI Al
enuwmerated in the Torah.
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Therefore, X090 17 says

173 DD P00 VT RDYRINVO R
215 NI RIOOY YW

DM PYIIR Y 00N
IS 5 mowm

If this ®in forgot his specific year in mwni mn but he
does remember his century, he should ask the X150 for his
current year from j» ma5, and the Xin should add on 48
years to his own century, such as if the X790 was in the
year 710, then the Rin is in the year 158 because mwni min
began in the year 4000, which was 172 years after the j2mn,
while 17 M35 began 380 years before the 127, and since
o I began 552 years after  mabn, therefore the
specific count of mwni1 M’ begins 48 years before the
specific count of 7y mdn.

And similarly,

IR NI RIND 779701 RID0 WV ORI

MW DYAIR TP RN

I 7 mwm

If a X700 forgot his specific year from jp m>5», but he does
remember the century, he should ask the xin for his
current year in wnin m»’ and the X150 should subtract 48
years from his own century, such as if the xin was in the
year 158 then the X190 is in the year 710, because since

1 M3 began 552 years before mwnin mir, therefore the
specific count of [y ma5» begins 48 years after the specific
count of mwni M.

DafHachaim.org

ﬂberz/ar&, £00 ) sayy
NN NN MOID DT R RIN WD N
21ND NN RIODS Mmbrend
DN PYIN NDY 1DD)
MMMIND mb nowm

If this nap forgot his specific year in mwnin mm
but he does remember his century,
he should ask the m®p for his current year from» mab,
and the non should add on 48 years to his own century,

such as if the NyoD was in the year 710,
then the Nan is in the year 158 because mwnn mm began in
the year 4000, which was 172 years after the)anm,
while» mobn began 380 years before the)amm,

NP NN RIND MONWI RIDD WD IN)
NDW) D'DIN MDD IN)
MMIND Mmb nown)

he should ask the Ran for his current year in mwpi mp
and the nyop should subtract 48 years from his century,
such as if the Nan was in the year 158
then the oD is in the year 710,

because since » m>5n began 552 years before mwnn mm,
therefore the specific count of » m25n begins
48 years after the specific count of mwnn M.
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VW 277 772 RN 27BN

TOW R DIIWI 10 703 VT ROT IR N7

If a person does not know the year of the current
seven-year Shmittah cycle, he can calculate it with the
RIn's count from the j2711, as follows:

RNW 71790

He should add one year to the count of the j3n, because
as Rashi explains, although the actual j2771 was in the 1st
year of the Shmittah cycle, however the count from the
127N begins in the following year, the 2nd year of the
Shmittah cycle.

Then

53r2°555 I0nn

12V VI

M0 AR SPwn

YOIOR ITON

He counts each century as two 52v cycles, but he must
subtract 2 years, and adds them to his count of the
Shmittah cycle, because as Rashi explains, this concurs
with 7777 *27 who holds

1RO91 RIS T DB NIw

The bar year is included in the following cycle and
accounts for the first year of the next 7v'nw cycle, and
therefore two 5av cycles account for only 98 years.

And then

WIW0I9% PV

VIV IV NI YT

He adds the remaining specific years of the j2711 to his
count, and he can determine the exact year of the current
Shmittah cycle.

Dedicated By:
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YO 277 9P )/ )
YT ROT IR RN
TMY RIN YI2W2 W HND

If a person does not know the year of the current
seven-year Shmittah cycle, he can calculate it with the
Nan’s count from the)amn, as follows:

RNWYW TN DY
He should add one year to the count of the)amn,
because ats Rashi
/fﬁ‘/wu?ﬁ the actual PP WAl
i the: 1% year g fA@SW#MZJa
the: countt from the PP éeguw n ?%,&/4
2nd year of the Shmittan W
"7:1’:1 %% wWNN
)12W21 09D
N ARND HPVWN
YODR M TVN
He counts each century as two 52 cycles,
but he must subtract 2 years,

and adds them to his count of the Shmittah
cycle,

because as Rashi WMM/,
this concurs with: >3 1 who hotdy
10551 1525 D DEMN ME
The b year i included in the following
m/mam/w z%@/ém year o% the next ’)//MCM
and z‘/bers?/&m two /o egwfw account //Zor be?/ 98 years.
And then
)12W2 VDY NIVNN
V1AW W AND YT
He adds the remaining specific years of the)jan to his

count, and he can determine the exact year
of the current Shmittah cycle.
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‘ RI’J1°27 IR

an ]37]!777 RN DIINRINR

DR 0 IR DR
TAR T DT PR MO AT AP )P P W
PN RS

If 400 years after the ;37 which is the year 4228 from nx2 m3an ]:nrnb IRD YIR IR

o> a person is offered to purchase a field worth 1000 DTR .Il, IR OR
717, for only one 97, he should not buy the field, because TR N*72 M7 t']')N MY NTY np

as Rashi explains
; NpN KR

NI YR N
If 4oo years after thejyyn

TMAR NSMIL WP I YIPM
TR OO0 N o
which is the year 4228 from D5wn RN

This was the deadline for the final redemption, when all
Yidden will return to Eretz Yisroel, and therefore he is

wasting his money.

The Braisa mentions a different count because as Bashi W&m

NI RN

05K NY2IR IR OO TP MO

09 NRID MY NNR DWHWI DNRD) POH HOMD £7D 905 T3P

DR 72 IR DR ... 92970 79050 DN

In the year 4231 from 091 X713, which is 3 years later. Thiy way the deadline for the W 4 e/mﬁwn/,

when all yb'//m will return to [f@fj/ yz/imez
4 z‘/ber%/&m he iy WWWZ;/ hiy money.

The Braisa menitions & /%/WW count
NIN XRNNN2
DONRMI DDHYR NY2AIR NXR
0% NXRI2Y NIYW NNXYI DY
~DTR 72 MR DX

In the year 4231 from p5wn P82, which is 3 years later.
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